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CHEMISTRY

First Year Examination-2014

CH-02
Organic Chemistry

Time Allowed : Three Hours

Maximum Marks : 30

Note : This paper is of thirty (30) marks divided into three (03)

sections A, B and C. Learners are required to attempt the
questions contained in these sections according to the
detailed instructions given therein.

: I% UIA-UR A (30) 3fehl T & I 7 (03) GSi &, @ T

wH fawifoa 21 forenferai 6 37 @St § fau o fawga e
&+ AR & Uyl o g T B

Section - A / @8-

(Long answer type Questions) /( S 3T a1 W9 )

Note : Section 'A’' contains four (04) long-answer-type questions

<

of 772 marks each. Learners are required to answer any
two (02) questions only. (2x74=15)

T ‘&' H =W (04) et ST arer weH fou e €, v weR
& fora 7Y stk Traifta € | Rrenieia o 3o @ Shae € wvsl
HIWAAE |
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1. Wirte notes on the following :
(a) Intermolecular Hydrogen bond.
(b) Elements of symmetry
(c) Aromaticity
frfafea « feoft fafe

(31) SRV TEGIeH o
(9) wHfEfa = a

(W) unhfefed

2. Explain four of the following :
(a) Hyperconjugation
(b) Benzene Hexa Chloride (BHC)
(c) Marcownikoff's rule

(d)  Ortho and Para ratio

(e)  Inductive effect
frafafes 5 9 =R = 999
(s1)  sAfagrea

(F) I~ T FANES
(¥) AR&HRE & FaH
() 3ol W 9 g

(@) W gumE

3. (a) Give any three methods of the formation of alkanes.

(b)  Explain the mechanism of SN' Reaction.
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(c)  What is Baeyer Strain theory.
(31)  Teshdt bl 59 1 fohdl i fafert =t fafer |
(9)  SN! fHfshar ki TRamfaiy IqEy |

() S H @ Fm F e 2

4, Discuss the mechanism of sulphonation, Acylation,

Halogenation and Nitration of benzens.

S § eI, THieieRr, RSO o AEeiehiu
& fwarfafy fafe |
Section - B / @g-@

(Short answer type Questions) ( g ST ATl UIT)

Note : Section 'B' contains eight (08) short-answer-type questions
of 2’2 marks each. Learners are required to answer any
four (04) questions only. (4x24=10)

AT : G @' W NS (08) Y I Arer v fIu MU ¥, wdes wvA
@ foag 2y siew Fraifa € 1 forenfdat = o0 @ Shae wr
qIH B I AT |

1. Complete the following reactions :

(@ CH,-CH=CH,+H,S04 >A—"">B
(b)  CH,-CH,-Cl+AICKO4 —
frafafea sitafsraret =t qof wifs .

() CH,-CH=CH,+H,S04 >A "% 3B

(d) CH,-CH,-Cl+AICKO4 —>
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2. Write the [UPAC nomeneleateive of the following compounds:

fefafea At @1 [UPAC AT fafed :

(@) CH,—CH-CH=CH=-COOH
|

OH
(b) CHO -CH, - (|3H — CU,~CHO
CHO
3. Discuss the mechanism of the E, reaction.

E, sfafshan =1 foranfafyr =1 =04 sifse |

4. What is the difference between singlet and triplete carben.Give

any two reactions where carben reaction intermediate are

formed.

faeie wet+ wa foueie wEia ¥ fadg wifsw | ot 3 sifufwand
e 99w ge9ad 994 8 |

5. Give the R/S configuration of the following compounds :

fr=Afafer ifmwl ®1 R/S fomar wamy :

COOH

H +——— OH

() HO 4+— Q
COOH
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COOH

H—— OH
(b) H— OH
COOC,H;
CH,
H —T1—Br
(c) Cl H
CH,
6. Complete and name the following reaction :

(O)—Cl+CH,~ Cl+2Na =% _, A?

frafafea gfafsean =t gof =ifs@ qen == fafed -

(O)—Cl+CH,~Cl+2Na — ¥, (a1 7

7. Write a preparations note on :
(a) BHC
(b) DDT
=1 & s = fafu fafled -
(1) dlLuaHE
() SiEa
8. With the help of suitable examples, distinguish between

enantiomer and diasteromer.

Tofed SeEl @ gAfEm aur sEEfEmR o fa9g sifsg)
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Note :

Section - C / @8-

(Objective type Questions) / ( TS W)

Section 'C' contains ten (10) objective-type questions of
one 2 mark each. All the questions of this section are
compulsory. (10x%=5)

: @g M H T\ (10) TS vy fou T E, vl ue &

fam v, oi fauifa & | 30 @ & |4t wve e § )
Which of the following is the least stable carbanian.

(@ C.H.CH, (b) (CH,),C

c) Ccl, (d  CH,

frefafea & 9 o o go8 9 e ol S © |
() CH.CH, (€) (CH,)3C

(®) Ccl, (3) CH,

Assign configuration (E or z) to the following :

Marsh gas mainly contains :

@ CH b CH

(¢ CH, @ CH
et e o e 9 | 9@ S o
() CH, () CH

(§) CH, () CH
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4. Which of the following has SP? Hybridization ?

(@) Ch, (by CH,
(c) BCCl, d CH,
5. The shape of ethylene molecule is :
(@) Tetrahedral (b)  Pyramidal
(c) Planar (d)  Linear

SR T 3THR Bl ©
() FHATHAR A (F) EEE

(9) HHacE (7) W
6. Which ofthe following conformations of butane is most stable:
(@)  Skew (b)  Anti
(c) Gauche (d)  Eclipsed
1 o ¥ FF W oA w1 R w9 R
() (@ T
(@) T () TS
7. Indicate the type of Hybridization of the asterisked carbon.
fgarm a1 wEF w1 RO FaET |
i
8. Complete the following reaction :

CH,—-C=C-H+H, Pd-CaCo,

quinolien
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8. freifatad stufwa @ ot W

CH3 ~—C=C-H+ H, Pd.-fjaCo3

——>
SFLTedTE
9 The SN2 reaction proceeds with ............... configuration
S NI 17| O fa=ma @ 9= et ?

10. Full form of TNT 1S ..cuuvvneennnn... )
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